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class SimpleNet(torch.nn.Module):

def __init__(self):

supper().__init_QO
self.nn_inputs = (((((224-5+1)/2)-5+1)/2)A2)*32

self.convl torch.nn.Conv2d(3, 16, 5)

self.pooll = torch.nn.mMaxPool12d(2, 2)
self.conv2 = torch.nn.Conv2d(16, 32, 5)
self.pool2 = torch.nn.MaxPool2d(2, 2)

self.fcl torch.nn.Linear(self.nn_inputs, 512)

self.fc2 = torch.nn.Linear(512, 64)
self.fc3 = torch.nn.Linear(64, 5)

def forward(self, x):

X = torch.nn.functional.relu(self.convl(x))
X = self.pooll(x)

X = torch.nn.functional.relu(self.conv2(x))
X = self.pool2(x)

X = X.view(-1, self.nn_inputs)

X = torch.nn.functional.relu(self.fcl(x))

X = torch.nn.functional.relu(self.fc2(x))

X = self.fc3(x)

return Xx
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class SimpleNet(torch.nn.Module):

____________________________________________________________

def __init__(self):

supper().__init_QO
self.nn_inputs = (((((224-5+1)/2)-5+1)/2)A2)*32

ETIVBRICHER B m = Zfm

self. = torch.nn.Conv2d(3, 16, 5)
self.pooll =

self. =

self.pool2 = torch.nn.MaxPool2d(2, 2)

self.fcl torch.nn.Linear(self.nn_inputs, 512)

self.fc2 = torch.nn.Linear(512, 64)
self.fc3 = torch.nn.Linear(64, 5)

torch.nn.MaxPool12d(2, 2) i
torch.nn.Conv2d(16, 32, 5) !

def forward(self, x):
torch.nn.functional.relu(self.convl(x))
self.pooll(x)
torch.nn.functional.relu(self.conv2(x))
self.pool2(x)

x.view(-1, self.nn_inputs)
torch.nn.functional.relu(self.fcl(x))
torch.nn.functional.relu(self.fc2(x))
self.fc3(x)

return Xx

X X X X X X X X
| | | | | O O [ B
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class SimpleNet(torch.nn.Module):

def __init__(self):

supper().__init_QO
self.nn_inputs = (((((224-5+1)/2)-5+1)/2)A2)*32

self. = torch.nn.Conv2d(3, 16, 5) SR O = Lo — = —— 2
self.pooll = torch.nn.MaxPool2d(2, 2) annEi%%&%T Q@Umhtém'?&—
self. = torch.nn.Conv2d(16, 32, 5)

self.pool2 = torch.nn.MaxPool2d(2, 2)

self.fcl = torch.nn.Linear(self.nn_inputs, 512)

self.fc2 = torch.nn.Linear(512, 64)

self.fc3 = torch.nn.Linear(64, 5)

_____________________________________________________________

def forward(self, x):

torch.nn.functional.relu(self. x))
self.pool1l(x)
torch.nn.functional.relu(self. x))

self.pool2(x)

x.view(-1, self.nn_inputs)
torch.nn.functional.relu(self.fcl(x))
torch.nn.functional.relu(self.fc2(x))
self.fc3(x)

return Xx

X X X X X X X X
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class SimpleNet(torch.nn.Module):

EHFAHBOHIRZEE
def __init__(self): ¢
supper().__init_Q
self.nn_inputs = (((((224-5+1)/2)-5+1)/2)A2)*32

torch.nn.Conv2d(3, 16, 5)
self.pooll torch.nn.MaxpPool2d(2, 2)
self.conv2 torch.nn.Conv2d(16, 32, 5)
self.pool2 = torch.nn.MaxPool2d(2, 2)

self.fcl = torch.nn.Linear(self.nn_inputs, 512)
self.fc2 = torch.nn.Linear(512, 64)

self.fc3 = torch.nn.Linear(64, 5)

self.convl

043 035

A\\

008 024 >>> 161 ./;//, %
178 161 ”
o

def forward(self, x):

torch.nn.functional.relu(self.fc2(x))
= self.fc3(x)

return X 23(3

X = torch.nn.functional.relu(self.convl(x)) 21l 224

X = self.pooll(x) 224 .

X = torch.nn.functional.relu(self.conv2(x)) BHAHE EIEGE

x = self.pool2(x) T e
X = X.view(-1, self.nn_inputs) < E_in_aj}ﬁb*‘ﬂjjjﬁ'%

X torch.nn.functional.relu(self.fcl(x)) T HERYT N)VICE R

X

X
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class Dataset:

def _init__Q):
self.x = images
self.y = Tabels

self.transform = transforms <—

def __len_QO:

retrun len(self.x)

def __getitem__(i):
X = self.transform(self.x[i])

y = self.y[i]
return x, y

class Resize:

def it
sglf.x = ¥
def|_call _‘Co«
X |= resize(x)

X

class Affine:
def __init_(X):
self.x = x
def __call__(Xx):
X = affine(x)

X

class Tensor:
def __init_(X):
self.x = x
def __call__(X):
X = tensor(x)

X

transforms = [

Resize(), &

Affine(), <

Tensor(), <

] 89
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class Resize:

def it
glf.x = x B
_call _Co«
X |= resize(x)
X

class Affine:
def __init_(X):

- HERUYAMNZERIEL., BREICIHU CEEZHE el =
N S — def __call__(Xx):
BZL., /Ny FALDONIBZ1TD, x = affine(x)
X
train_dataset = Dataset(images, labels) <4 class Dataset: class Tensor:
def __init__(images, labels): def _init_(x):
train_dataloader = DataLoader/( self.x = images self.x = x
train_dataset, self.y = Tabels def _call__(x):
batch_size=16, shuffle=True, num_workers=2) self.transform = transforms <— X = tensor(x)
X
— def _len_0O:

retrun len(self.x)

transforms = [

def _getitem__(i): Resize(), &
x = self.transform(self.x[1]) L Affine(), <«
y = self.y[1] Tensor(), <

return x, y ] S)()
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c BT UEEGT -5 ED LT OETFILICR
AUAlRZET1T 3o

train_dataset = Dataset(images, labels) <+

train_dataloader = DataLoader(

train_dataset,
batch_size=16, shuffle=True, num_workers=2)

} }

for inputs, labels in train_dataloder:
optimizer.zero_grad()
outputs = model (inputs)
loss = criterion(outputs, inputs)
loss.backward()
optimizer.step()

class Dataset:
def __init__(images, labels):

self.x = images
self.y = Tabels

self.transform = transforms <— X = tensor(x)

def __len_QO:

retrun len(self.x)

def __getitem__(i):
= self.transform(self.x[i])

X
y = self.y[i]
return x, y

class Resize:
def

X
X

class Affine:
def __init_(X):
self.x = x
def __call__(Xx):
X = affine(x)
X

class Tensor:
def __init_(X):
self.x = x

def __call_(x):

X

transforms = [
Resize(), &

— Affine(), <

Tensor(), <

] 91
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# dataset
train_dataset = Dataset(images, labels)
train_dataloader = DataLoader(train_dataset, batch_size=4)

# model

model = SimpleCNN(Q)

model.train() « EFIZIEE—NICUIDEZ., SAERICEU QRS
# parameters HeRmREFI Do

criterion = torch.nn.CrosseEntropyLoss()
optimizer = torch.optim.SGD(net.parameters(), 1r=0.001)
n_epochs = 50

# training
for epoch in range(n_epochs):
running_loss = 0.0

# mini batch

for inputs, labels in train_dataloader:
optimizer.zero_grad()
outputs = model (inputs)
loss = criterion(outputs, labels)
loss.backward()
optimizer.step()
running_loss += loss.item()

print('Epoch: {}; Loss: {}'.format(epoch, running_loss)) S)ZZ
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# dataset
train_dataset = Dataset(images, labels)
train_dataloader = DataLoader(train_dataset, batch_size=4)

# model
model = SimpleCNN(Q)
model.train()

# parameters

criterion = torch.nn.CrosseEntropyLoss()

optimizer = torch.optim.SGD(net.parameters(), 1r=0.001)
n_epochs = 50

# training
for epoch in range(n_epochs):
running_loss = 0.0

# mini batch

for inputs, labels in train_dataloader:
optimizer.zero_grad()
outputs = model (inputs)
loss = criterion(outputs, labels)
loss.backward()
optimizer.step()
running_loss += loss.item()

print('Epoch: {}; Loss: {}'.format(epoch, running_loss))

BEREE
o ZUSANEMBETIEF—KNIC/OXTY NOF—BEH%
BHWw3,

- [EFEDFTIE MSELoss 72 EZFERAT 3,

- METERULCBEBZHERAIZIEDLTES, ZDE,
outputs & labels ZZIFED. 1T DDEZIRIEKZE
HINEXL,

sk 7 )L 3 XL

+ SGD * Adam B EH & < N B,
TRy Y
- BY¥BERISBVEEOTIRY I ZRE,
+ I — 4 %EAL T early stopping #2503
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# dataset
train_dataset = Dataset(images, labels)
train_dataloader = DataLoader(train_dataset, batch_size=4)

# model
model = SimpleCNN(Q)
model.train()

# parameters

criterion torch.nn.CrosseEntropyLoss()

optimizer = torch.optim.SGD(net.parameters(), 1r=0.001)
n_epochs = 50

# training
for epoch in range(n_epochs):
running_loss = 0.0

# mini batch

for inputs, labels in train_dataloader:
optimizer.zero_grad()
outputs = model (inputs)
loss = criterion(outputs, labels)
loss.backward()
optimizer.step()
running_loss += loss.item()

HoH H HH
ui A WN R

print('Epoch: {}; Loss: {}'.format(epoch, running_loss))

dWEKR (BEERW) ZHET %,

BT —5 ZETILICRKALFRIT 5,
TAECHEM NIV SIER (RE) 2587 %,
BRZzRY M7=V 2RICEEET 5,
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# model

S|bEAETRES model = SimpleCNN()

model.load_state_dict(torch.load('weight.pth'))
model.eval ()

# preprocess an image
img_fpath = '/path/to/image.jpg’

im = PIL.Image.open(img_fpath)
im = ImageOps.exif_transpose(im)
im = inference_transform(im)

im = im.unsqueeze(0)

# inference
output = model(input)
# [[0.0935, -5.4933, -1.1156, 6.0684, 0.0409]]

ET VAR

output_softmax = torch.softmax(output, dim=1)
# [[0.0025, 0.0000, 0.0001, 0.9950, 0.0023]]

5ﬂu output_sigmoid = torch.softmax(output)
# [[0.5233, 0.0041, 0.2468, 0.9977, 0.5102]]
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VGG (
(features): Sequential(

from torch.nn as nn
from torchvision import models

model = models.vggl6é(pretrained=True)

print(model)
classifier[5] D EHD# 4096 = (TH S,

l

nhn.Linear (4096, 5)

T

HHh#%E 5 ICKRE

model.classifier[6] =

ERH

(0):
(1):
(2):
(3):
(4):
(5):
(6):
(7):
(8):
(9):
(10):
(11):
(12):
(13):
(14):
(15):
(16):
(17):
(18):
(19):
(20):
(21):
(22):
(23):
(24):
(25):
(26):
(27):
(28):
(29):
(30):
)

Conv2d(3, 64, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))

ReLU(inplace=True)

Conv2d(64, 64, kernel size=(3, 3), stride=(1, 1), padding=(1,

ReLU(inplace=True)

MaxPool2d(kernel_size=2, stride=2, padding=0, dilation=1, ceil mode=False)

Conv2d(64, 128, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))

ReLU(inplace=True)

Conv2d(128, 128, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))

ReLU(inplace=True)

MaxPool2d(kernel_size=2, stride=2, padding=0, dilation=1, ceil mode=False)
Conv2d(128, 256, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d (256, 256, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d (256, 256, kernel size=(3, 3), stride=(1,
ReLU(inplace=True)

MaxPool2d(kernel_ size=2, stride=2, padding=0, dilation=1, ceil mode=False)
Conv2d(256, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d(512, 512, kernel size=(3, 3), stride=(1,
ReLU(inplace=True)

Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)

1))

1), padding=(1, 1))

1), padding=(1, 1))

(avgpool): AdaptiveAvgPool2d(output size=(7, 7))
(classifier): Sequential(

(0):
(1):
(2):
(3):
(4):
(5):
(6):

Linear(in_features=25088, out_features=4096, bias=True)
ReLU(inplace=True)

Dropout(p=0.5, inplace=False)

Linear(in_features=4096, out_ features=4096, bias=True)
ReLU(inplace=True)

Dropout(p=0.5, inplace=False)

Linear(in=features=4096, out=features=1000, bias=True)
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from torch.nn as nn
from torchvision import models

model = models.resnetl8(pretrained=True)

print(model)
avgpool DH# 512 =2 (TS,

l

model.fc = nn.Linear(512, 5)

T

HAO¥%Z 5 ICERET %o

ResNet (
(convl): Conv2d(3, 64, kernel size=(7, 7), stride=(2, 2), padding=(3, 3), bias=False)
(bnl): BatchNorm2d (64, eps=le-05, momentum=0.1, affine=True, track running stats=True)
(relu): ReLU(inplace=True)
(maxpool): MaxPool2d(kernel size=3, stride=2, padding=1, dilation=1, ceil mode=False)
(layerl): Sequential(
(0): BasicBlock(
(convl): Conv2d(64, 64, kernel size=(3, 3), stride=(1, 1), padding=(1, 1), bias=False)
(bnl): BatchNorm2d(64, eps=le-05, momentum=0.1, affine=True, track running stats=True)
(relu): ReLU(inplace=True)
(conv2): Conv2d(64, 64, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1), bias=False)
(bn2): BatchNorm2d(64, eps=le-05, momentum=0.1, affine=True, track running stats=True)
)
(1): BasicBlock(
(convl): Conv2d(64, 64, kernel size=(3, 3), stride=(1l, 1), padding=(1l, 1), bias=False)
(bnl): BatchNorm2d(64, eps=le-05, momentum=0.1, affine=True, track running stats=True)
(relu): ReLU(inplace=True)
(conv2): Conv2d(64, 64, kernel size=(3, 3), stride=(1l, 1), padding=(1l, 1), bias=False)
(bn2): BatchNorm2d(64, eps=le-05, momentum=0.1, affine=True, track running stats=True)
)
)
(layer2): Sequential(
(0): BasicBlock(
(convl): Conv2d(64, 128, kernel size=(3, 3), stride=(2, 2), padding=(1l, 1), bias=False)

(1): BasicBlock(
(convl): Conv2d(512, 512, kernel size=(3, 3), stride=(1, 1), padding=(1, 1), bias=False)
(bnl): BatchNorm2d(512, eps=le-05, momentum=0.1, affine=True, track running stats=True)
(relu): ReLU(inplace=True)
(conv2): Conv2d(512, 512, kernel size=(3, 3), stride=(1, 1), padding=(1, 1), bias=False)
(bn2): BatchNorm2d(512, eps=le-05, momentum=0.1, affine=True, track running stats=True)
)
)
(avgpool): AdaptiveAvgPool2d(output size=(1, 1))
(fc): Linear(in_ features=512, out features=1000, bias=True) 97
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from torch.nn as nn
from torchvision import models

model = models.vggl6é(pretrained=True)
model.classifier[6] = nn.Linear(4096, 5)

for param in model.features.parameters():
param.requires_grad = False

VGG (

(features): §equent1al(
(0): Conv2d(3, 64, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))
(1): ReLU(inplace=True)

(3): ReLU(inplace=True)
(4): MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
(5): Conv2d(64, 128, kernel size=(3, 3), stride=(1l, 1), padding=(1l, 1))
(6): ReLU(inplace=True)
(7): Conv2d(128, 128, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))
(8): ReLU(inplace=True)
(9): MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
(10): Conv2d(128, 256, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
(11): ReLU(inplace=True)
(12): Conv2d(256, 256, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
(13): ReLU(inplace=True)
(14): Conv2d(256, 256, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))
(15): ReLU(inplace=True)
(16): MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
(17): Conv2d(256, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
(18): ReLU(inplace=True)
(19): Conv2d(512, 512, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))
(20): ReLU(inplace=True)
(21): Conv2d(512, 512, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))
(22): ReLU(inplace=True)
(23): MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
(24): Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
(25): ReLU(inplace=True)
(26): Conv2d(512, 512, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))
(27): ReLU(inplace=True)
(28): Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
(29): ReLU(inplace=True)
(30): MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
)
(avgpool): AdaptiveAvgPool2d(output_size=(7, 7))
(classifier): Sequential(
(0): Linear(in_features=25088, out_ features=4096, bias=True)
(1): ReLU(inplace=True)
(2): Dropout(p=0.5, inplace=False)
(3): Linear(in_features=4096, out_features=4096, bias=True)
(4): ReLU(inplace=True)
(5): Dropout(p=0.5, inplace=False)
(6): Linear(in_features=4096, out_ features=1000, bias=True) 98

(2): Conv2d(64, 64, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1)) T —
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from torch.nn as nn
from torchvision import models

model = models.vggl6é(pretrained=True)

model.classifier[6] = nn.Linear(4096, 5)

for param in model.features.parameters():
param.requires_grad = False

for param in model.avgpool.parameters():
param.requires_grad = False

VGG (

(0):
(1):
(2):
(3):
(4):
(5):
(6):
(7):
(8):
(9):

)

(10):
(11):
(12):
(13):
(14):
(15):
(16):
(17):
(18):
(19):
(20):
(21):
(22):
(23):
(24):
(25):
(26):
(27):
(28):
(29):
(30):

(features): §equent1al(

Conv2d(3, 64, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))

ReLU(inplace=True)

Conv2d(64, 64, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))

ReLU(inplace=True)

MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)

Conv2d(64, 128, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))

ReLU(inplace=True)

Conv2d(128, 128, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))

ReLU(inplace=True)

MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
Conv2d(128, 256, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d (256, 256, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d (256, 256, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))
ReLU(inplace=True)

MaxPool2d(kernel_ size=2, stride=2, padding=0, dilation=1, ceil mode=False)
Conv2d (256, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d(512, 512, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))
ReLU(inplace=True)

MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d(512, 512, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))
ReLU(inplace=True)

Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
ReLU(inplace=True)

MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)

(avgpool): AdaptiveAvgPool2d(output size=(7, 7))

(classifier): Sequential(

(0):
(1):
(2):
(3):
(4):
(5):
(6):

Linear(in_features=25088, out_features=4096, bias=True)
ReLU(inplace=True)

Dropout(p=0.5, inplace=False)

Linear(in_features=4096, out_ features=4096, bias=True)
ReLU(inplace=True)

Dropout(p=0.5, inplace=False)

Linear(in_features=4096, out_ features=1000, bias=True)
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from torch.nn as nn
from torchvision import models

model =
model.classifier[6] =

models.vggl6(pretrained=True)

nhn.Linear (4096, 5)

for i, param in \
enumerate(model.features.parameters()):
param.requires_grad = False

if i > 15:
break

VGG (

(features): gequentlal(
(0): Conv2d(3, 64, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))
(1): ReLU(inplace=True)
(2): Conv2d(64, 64, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))
(3): ReLU(inplace=True)
(4): MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
(5): Conv2d(64, 128, kernel size=(3, 3), stride=(1l, 1), padding=(1l, 1))
(6): ReLU(inplace=True)
(7): Conv2d(128, 128, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))
(8): ReLU(inplace=True)
(9): MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
(10): Conv2d(128, 256, kernel size=(3, 3), stride=(1, 1), padding=(1, 1))
(11): ReLU(inplace=True)
(12): Conv2d(256, 256, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))
(13): ReLU(inplace=True)
(14): Conv2d(256, 256, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))
(15): ReLU(inplace=True)
(16): MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
(17): Conv2d(256, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1l, 1))
(18): ReLU(inplace=True)
(19): Conv2d(512, 512, kernel size=(3, 3), stride=(1, 1), padding=(1l, 1))
(20): ReLU(inplace=True)
(21): Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1l, 1))
(22): ReLU(inplace=True)
(23): MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)
(24): Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
(25): ReLU(inplace=True)
(26): Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1l, 1))
(27): ReLU(inplace=True)
(28): Conv2d(512, 512, kernel size=(3, 3), stride=(1l, 1), padding=(1, 1))
(29): ReLU(inplace=True)
(30): MaxPool2d(kernel size=2, stride=2, padding=0, dilation=1, ceil mode=False)

)
(avgpool): AdaptiveAvgPool2d(output_size=(7, 7))
(classifier): Sequential(

(0):
(1):
(2):
(3):
(4):
(5):
(6):

Linear(in_features=25088, out_features=4096, bias=True)
ReLU(inplace=True)

Dropout(p=0.5, inplace=False)

Linear(in_features=4096, out_ features=4096, bias=True)
ReLU(inplace=True)

Dropout(p=0.5, inplace=False)

Linear(in_features=4096, out_ features=1000, bias=True)
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